13000 GeV pp tt
T — T T ] T T T T 1 T ' 2
> o —3
8 M(ttbar) (ATLAS semileptonic ttbar) >
S104 — —3
8107 £ m ATLAS =
rgﬁ — --03-- Herwig 7.2.1 default M
S — —— Pythia 8.308 default 1=
o) B | ;
—~—— | [
= (]
: :
B0 =
o — -
o - 1z
© - s
(40)
- n
o
3
107° = ==
~ 1%
- mis
B _| =
Q
B —Hc
)
u 4O
)
©
107 &= =B
=, | | | I | | | | | | = e
: 1 T | T T T T | T T T T |:
2 & —2
) - -
9 - N
- - |
l_
- - _
e 1 1
° i
g [ 4 ]
Y 7220 T = T = R Iil ]
0.5 —0.5
1 1 1 " | " 1 " 1 1 1 " |
2000 3000

m2 [GeVv], pth"”{t} in [40,150] [GeV]



	Contents
	Page 1


